Figures

Zonal- and time-mean distribution of zonal wind (U), mass stream function
(MSF), and temperature (Temp) are shown.
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Figure 3: U at Ly=60°-90° by dc- Figure 6: U at Lg=150°-180° by dc-
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Figure 7: U at Lg=180°-210° by dc- Figure 10: U at Ly=270°-300° by dc-
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Figure 8: U at Lg=210°-240° by dc- Figure 11: U at Ly=300°-330° by dc-
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Figure 13: ANGMOM at Ls=0°-30° Figure 16: ANGMOM at Ls=90°-
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Figure 14: ANGMOM at Ly=30°-60° Figure 17: ANGMOM at Ls=120°-
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Figure 15: ANGMOM at Lg=60°-90° Figure 18: ANGMOM at L,=150°-
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Figure 25: MSF at Li=0°-30° by dc- Figure 28: MSF at Ly=90°-120° by
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Figure 29: MSF at Ly=120°-150° by
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Figure 30: MSF at Ly=150°-180° by

dcpam
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Figure 32: MSF at Ly=210°-240° by
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Figure 34: MSF at Ly=270°-300° by
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36: MSF at Ls=330°-360° by
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Figure 43: MSF at Ls=180°-210° by
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Figure 44: MSF at Ls=210°-240° by
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Figure 51: MSF at 1 Pa at Ly=60°-
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Figure 55: MSF at 1 Pa at Ly=180°- Figure 58: MSF at 1 Pa at Ls=270°—
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Figure 56: MSF at 1 Pa at L;=210°- Figure 59: MSF at 1 Pa at Ls=300°-
240° by dcpam 330° by dcpam
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Figure 57: MSF at 1 Pa at Ly=240°- Figure 60: MSF at 1 Pa at L;=330°-
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Figure 62: ANGMOM at L;=30°-60°
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Figure 73: ANGMOM at Ls=180°- Figure 76: MSF at Ly=180°-210° by
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Figure 74: ANGMOM at L¢=210°- Figure 77: MSF at Li=210°-240° by
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Figure 75: ANGMOM at Lg=240°- Figure 78: MSF at L;=240°-270° by
270° by dcpam dcpam
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Figure 79: ANGMOM at Ls=270°- Figure 82: MSF at Ly=270°-300° by
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Figure 80: ANGMOM at L¢=300°- Figure 83: MSF at Li=300°-330° by
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Figure 81: ANGMOM at 1;=330°- Figure 84: MSF at Ls=330°-360° by
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